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	Pattern Number (n)

	1
	2
	3
	4
	5

	Total Number of Squares (s)
	5
	8
	
	
	



b)	Explain why the relationship between (n) and (s) is linear.



c)	Write an algebraic rule for finding the total number of squares (s) from any given pattern number (n).


d)	Use your rule to find the total number of squares (s) for pattern number [image: <EFOFEX>
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e)	Use your rule to find the pattern number (n) if [image: <EFOFEX>
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</EFOFEX>] squares are used.
[2,1,2,2,2 = 9 Marks]


Solution:
a)	
	Pattern Number (n)

	1
	2
	3
	4
	5

	Total Number of Squares (s)
	5
	8
	11
	14
	17
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b)	The first difference is constant.  [image: <EFOFEX>
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There are 32 squares whenn =10 v
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Pattern number 24 uses 74 squares v
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